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Answers

W Sy 2 g P ) By (o) 2B vE) (b) 1 VE () EVIEVEERVE
a) 8a5bL (b) 3az b2 (c) 2a2b7' (d) ab' (e) a~2 b (f) as b2

a) 1 (b) —% (c) 8 (d) :l:% 5. (a) logy(5(z+1)) (b) logy3 (c) 25

SR e W A 20 — .

2) be —cy — bz (b) 2(b+c¢) (c) 2w (d) 1+ nr () ac—i-Qz ®) m—1

a) y— (-1 =(z—(-2)? (b) y— g =-3(x—(-3) (¢) z—(-10) =9(y — 3)?

a) z*(x—4)(x+4) (b) (x—-2)2z-5)(2x+5) (c) 2z +3)42®>—-6x+9) (d) (z—1)(z+1)(2®2+1)

(a) 0,4 (b) 2,+£3 (c) —3
(@) 5% Foorfg (b) —5. 5,
) =% ) =% (@ -F @) -5 F OF @ F 0

(a)
16. (a) —2or 1 (b) -3, -3, 0r %
17. (a) =3<2<1 (b) z<Zorz>1
(c) all z
18. (a) 3<z <5 (b) 20r -2 (c) —%0r2
19. (a) Tz +3y=2 (b) 3z+2y=1
(€ y=3
20. (a) (2,-1)

1 5
(@) (x=1)°+(y—2)?=18 (b) (CC—*)2 =1
(a) center = (—3,2) radius = v/10 (b) z + 3y <13)
(a) 9 (b) ($*5)2+(y*3)2—25
822 — 387 + 8y? + 20y + 43 = 0 (a circle).
(a) x <=2 or z>1 (b)i D:all numbers, R: {7} ii. D: all numbers except —3, R: all numbers except 3
D: all numbers except 0; Range: {1,—1} 27. (a) 2 (b) (c) 2z +h

a

a

@+ 1)@+ h+1)

30. (a) y=—22+22+3 30. (b)

(a) y=22-32+2 (b) y=2(2?+3x+3)(z+1)3 (c) 2> +y*=1
() ) =" 3 b)) Fla) = = +_21 (©) ~1+vZT2 o> -1 33,
r—nh rt
(a) a::t( - ) () &= s
(a) 1= (b) 4r+ar (c) 2& (d) 100v/5km (e) % or 30°
(a) 1 =cos(x —x) = ... (b) Use D. (c) Use C. (d) Use (c) then (a). (e) Substitute § into (d).
(g) Substitute J into (e)



